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<Superelevation staStart="0" staEnd="295.550450344305">
Wt reRriS S S B <FullSuperSta>0</FullSuperSta>
e . =<FullSuperelev>6</FullSuperelev=
HHSSATEERIRT | BN ERE HRSFER( A2 | <RunoffSta>295.550450344305 </RunoffSta=
— <AdverseSE>non-adverse < /AdverseSE>
L
W ARELTUDITETS </Superelevation>
BBl | duUoits SERlERE ] <Superelevation staStart="450.550450344305" staEnd="482.93603298302">
<FullSuperSta>450.550450344305 < /FullSuperSta>
= & q Hf &5 22 L L]q=
&F5 Ié%:_:‘_-‘ Bls :.:(f“%R E{F:ﬁ)ﬁ E?&?EE iz e J(-_r;):!jﬁ =T (Jmf;“jg <FullSuperelev>-4</FullSuperelev>
<RunoffSta=482.93603298302</RunoffSta>
- . . . . . . . =AdverseSE>non-adverse</AdverseSE>
1 1 0+00.000000  300.000 295.550450 [ 6.000000 . - - </Superelevation>
2 14+15.550450 | R—A—co  75.000000 - - [0 75.000000 75.000000 <Superelevation staStart="625.43603298302" staEnd="649.916193252348">
3 18+10.550450  co—A—R | $0.000000 - - O so.o00000 80.000000 <FullSuperSta>625.43603298302 < /FullSuperSta=
2 4 | 22+10.550450 -500.000 32.385583 [] 4.000000 7 - - <FullSuperelev>2</FullSuperelev:
B 24402.936033 R—h—oo | 80.000000 - - O so.onoono| go.noooon <RunoffSta>649.916193252348</Runoffsta>
§ | 28+02.986033 co—d4—R | B2.500000 - - O 6&2.500000  62.500000 ;S<Ad“TrSE§E>“°"'“d"ersed‘e‘d“'erSESE}
<fSuperelevation>
+05. oo, . . - - .
g ! 81405.436033  1,000.000  24.430160 [] 2.000000 ™ <Superelevation staStart="824.916193252348" staEnd="929.75094387478">
8 32+09.91619%  RB—A—co E2.500000 - - [0 &2.500000 E2.500000 <FullSuperSta>824.916193252348 < /FullSuperSta>
9 | 35+12.416193 co—4—R | 112.500000 - - O 112.500000  112.500000 <FullSuperelev>-6</FullSuperelev>
4 10 41404.916193 -200.000 | 104.234751 [ &.000000 e - - <RunoffSta=929.75094387478 </RunoffSta>
11 46+09.750944 R—A—co | 112.500000 - - [ 112.500000 112500000 <AdverseSE>non-adverse < /AdverseSE>
12 B2+02. 2580944 co—4—R E.000000 - - O 75.000000 7a.000000 <fSuperelevation>
5 13 E5+17.250944  300.000 169.753872 [] 6.000000 N _ _ <Superelevation staStart="1117.25094387478" staEnd="1287.01081619573">
14| B4407.010816 R—h—oo | 75.000000 - - O 75.000000  75.000000 <FullSuperSta>1117.25094387478</FullSuperSta>
=<FullSuperelev>6</FullSuperelev=
15 E8+02. 010816 4—R g0.000000 - - 40.000000 g0.000000
A O <RunoffSta>1287.01081619573</RunoffSta=
E 16 72402.010816 -320.000 | 243.116842 [ &.000000 e - - <AdverseSE>non-adverse</AdverseSE>
17| 84405.126858  R—d—sco | 80.000000 - - [0 se0.000000 80.000000 </Superelevation>
- - - - - - - - <Superelevation staStart="1442.01081619573" staEnd="1685.12665823213">
7 18 AaH0G. 126RER oo 102.281958 O z.oo0000 ™ - - <FullSuperSta>1442.01081619573 </FullSuperSta>

<FullSuperelev>=-6</FullSuperelev>
<RunoffSta=1685.12665823213 < /RunoffSta=
<StartofRunoutSta=1745.12665822213 < /StartofRunoutSta=
<EndofRunoutSta>1765.12665823213 </EndofRunoutSta=
<AdverseSE>adverse</AdverseSE>

- <Feature name="ReverseCrown">

<Property value="1725.12665823213" label="sta"/>
< fFeature>
</Superelevation>
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% T H N Ty IR fii =
1|SingleLaneRoad FALSE —F
2|NormalCrown 2 —3

(Fzv IR 2]
T H
HE Bl &5 E{ijiﬁ@ﬁa (%);5@.] HERR Fx v IRER 55
1 0+00. 000000 6.000000 | -6.000000 N —
2 14+15. 550450 6. 000000 | -6.000000 N —
3 18+10. 550450 1.161290 | -1.161290 N —
4 22+10. 550450 -4. 000000 4. 000000 / —
5 24+02. 936033 -4. 000000 4. 000000 / —
6 28+02. 936033 -0. 631579 0.631579 s —E
7 31+05. 436033 2.000000 | -2.000000 N —
8 32+09. 916193 2.000000 | -2.000000 AN —F
9 35+12. 416193 -0. 857143 0. 857143 /S —
10 41+04. 916193 -6. 000000 6. 000000 s —F
1 46+09. 750944 -6. 000000 6. 000000 /S —
12 50+00. 000000 -1. 504060 1. 504060 s —F
13 52+02. 250944 1.200000 | -1.200000 AN —
14 55+17. 260944 6. 000000 | -6.000000 AN —F
15 64+07. 010816 6.000000 | -6.000000 AN —
16 68+02. 010816 0.193548 | -0.193548 N —F
17 72+02. 010816 -6. 000000 6. 000000 S —
18 84+05. 126658 -6. 000000 6. 000000 s —F
19 88+05. 126658 -2.000000 | -2.000000 N —
20 93+07. 408616 -2.000000 | -2.000000 N —F




FREEITYDIT

o = £ W &5 W . £ W &5 W
" TBRRAREC) | BRRERL 7o) i TBRRAREC) | BRRAR 7o)
0+ 0000000 E_ 000000 =& 000000 24 2.936033 =4 0pooon 4000000
1+ 0000000 E_ 000000 =& 000o0o 23 o_ooooon =5 ZB151T z281mT
2+ 0000000 E_ 000000 —&.000o0o 26 o_ooooon -2 428412 2 4z9412
F ¢ 0.000000 E. 000000 —E.0000on 27 0_oooooo —-1.537307 1.597307
4 + 0000000 E_ 000000 =& 000000 25 o_ooooon -0 TIEEm 0_7o5z
5+ 0.000000 E_ 000000 —&.00oo0o 28 2.936022 -0_E215749 0_E21574
&+ 0.000000 €. 000000 —&. 000000 249 a_0oooan 0. 028304 -0 02Ea0d
T o+ 0000000 E_ 000000 =& 000000 a0 o_ooooon 0. azanoa -0.3za003
&+ 0.000000 E_ 000000 =& 000o0o 21 o_ooooon 1771114 =1.771114
9+ 0.000000 E_ 000000 —&.000o0o H S.4ze022 2. 000000 =2. 000000

10+ 0.000000 E. 000000 —E.0000on 32 0_oooooo 2. 000000 2000000

11+ 0000000 E_ 000000 =& 000000 32 9.916133 2. 000000 —2. 000000

12 + 0000000 E_ 000000 —&.00oo0o = o_ooooon 1528028 —-1.52902E

12 + 0000000 €. 000000 —&. 000000 24 a_0oooan 0. 24740 -0 E24740

14 + 0000000 E_ 000000 =& 000000 a3 o_ooooon -0 2535345 0253545

14 + 1335504350 E_ 000000 =& 000o0o = 12. 416192 =0 837142 0857142

15 + 0000000 S.o71za32 -5, T1zasz 26 o_ooooon -1 2028 1202821

16 + 0000000 4. 422610 -4, 422610 v 0_oooooo -2, 118117 2 118117

17+ 0000000 3132287 -3, 132287 35 o_ooooon =5 032403 3032403

12 + 0000000 1. 841365 1. 841965 249 o_ooooon -2 B4EE22 2 94EERR

12 + 100550450 1. 1612490 -1 161290 a0 a_0oooan -4 860874 4_2e0374

18 + 0000000 0551642 -0.551642 a1 o_ooooon -5 773260 S.TTIZEN

20+ 0.00o000 =0 T3EES 0.73RER a1 4316182 =& 0poooo E_000000

21 +  0.0poooo -2 023002 2.0290032 a2 o_ooooon —E._0poooo E_000000

22 + 0.000000 -3, 313326 F.319328 as 0_oooooo —E. 000000 E_00oooo

22 + 1003304350 =4 0poa00 4000000 a4 o_ooooon =& 000000 E_000000

22+ 0.000000 =4 0poooo 4. 000000 a5 o_ooooon —E.0poooo E_000000

24 + 0.000000 =4 000000 4000000 A& a_0oooan —&. 000000 E_ 000000

o = £ W& M ol = E W[ & M
"o TERARC ) | TRRARE ) mom TRRRERC ) | PRI o)
A 9. 730944 =&, Doooog E_000o0n TO o+ 0_000ooo0 =Z2. 747350 Z.747330
a7 0. ooogoo -5, 3440E0 5. 244050 T+ 0_00opooon -4, 2345937 42495927
a4z 0. oooaoo -4 0EA0ED 4_0ed0E0 TZ + 0.000000 -5, 844324 S.o8da43z24
43 0. ooogoo —2. TEa0E0 2. 734050 T2 o+ 2.010816 =6, 000000 E_000000
50 0. ooogoo =1, 5040E0 1504060 T2+ 0_000000 —E. 000000 E_000ooon
51 Q. 000000 =0, 2ZA0E0 0224050 T4+ 0.000000 —E. 000000 E_0000a0
a2 0. 00000 1. 055940 =-1.035940 T3+ 0.000000 =&, 000000 E. 000000
a2 2230944 1. 200000 =1_z00000 TE 4+ 0_000000 =E. 000000 E_000ooon
52 0. ooogoo 2. 925940 -2.235940 TP o+ 0_000ooo0 —E. 000000 E_000ooo0
54 0. oooaoo 2. 615340 —2_E13340 TE& + 0.000000 —-E. 000000 E_00oo00
a3 0. ooogoo 4. 535340 —-4_535340 Ta o+ 0_000ooo0 =6, 000000 E_000000
55 17. 250944 E_ 000000 —E._ 000000 20+ 0.0opoooon —E. 000000 E_000ooon
S8 Q. 000000 & 000000 —&._ 000000 21 + 0.0000a0 —E. 000000 E_0000a0
ar 0. 00000 B, 0000 =& 000000 g2+ 0.000000 =&, 000000 E. 000000
a8 0. ooogoo E_ 000000 =E_ 000000 23 4+ 0.000000 =E. 000000 E_000ooon
549 0. ooogoo E_ 000000 —E._ 000000 24 + 0.00pooon —E. 000000 E_000ooo0
E0 0. oooaoo E. 000000 —6._ 000000 24 + 5126658 —-E. 000000 E_00oo00
E1 0. ooogoo B 000000 —6_ 000000 83+ 0.000ooo0 -4 312666 4. 51ZEEE
E2 0. ooogoo E_ 000000 —E._ 000000 26+ 0_000000 -2 512EEE 2.512EEE
B2 Q. 000000 & 000000 —&._ 000000 28 + S_12BES2 —Z2. 000000 2000000
g4 0. 00000 B, 0000 =& 000000 g7+ 0.000000 —2. 000000 0.312ZEEE
B4 010218 E_ 000000 =E_ 000000 22 4+ 0.000000 =Z. 000000 =1.487334
ES 0. ooogoo 4. 994228 —-4_994328 22+ S_o12EeEsg =2, 000000 =2.000000
EE 0. oooaoo 2. 445333 -2.4453343 23 + 0.000000 —-2. 000000 -Z.000o00
E7 0. ooogoo 1. 837612 -1.897612 a0+ 0_0ooooon —2. 000000 —2.000000
E2 0. ooogoo 0. 249224 0289224 a1+ 0.0opopooon —Z2.000000 =2.000000
E2 2. 010218 0. 133542 -0_13254% 42 + 0.0000a0 —Z2. 000000 =2.000000
B9 0. 00000 -1 199163 1199163 93+ 0.000000 —2. 000000 —2.000000
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a3 +  T.A0261E —2. 000000 -2.000000




